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� 4

2 ���������� 21

3 ���������� 79

4 ������� 113
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4 �������

�� 1 ��

 ���&�(���������

8

1

2

4
3

5

6

7

�
�����������%�����*�
�� 36��,��

����������� 6 �������	�������

*������
�� 36− 30 = 6 ��,����������

�Æ*����4���	��!f��
	�����
��

y�������
�� x���	�����������H/

����$���������W�������
� ���

	����� y � x�/���
	�����
�� 30���


� 6 �������
�� 30 − x − y�

B

A

C

D

� �

�� �

6

6

6

����

B

A

C

D

� �

�

x

y
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y 30 −x−y

6

6
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/� ABCD �������*�0�����
� 18 + x �*

�������
� y + (30 − x − y) ���4

18 + x = y + (30 − x − y) ⇒ x = 6.

;�$.
'��

30 − x − y = y ⇒ 2y = 30 − x = 24 ⇒ y = 12.

/����
	�����
�� 12 ��,��

�$����������
	�+���
�� 4 ��,

��#����������� ABCD����&� 10,���

�� 2 ��

	�� � ���
/Æ�Æ0����� (x, x, x)��� � �

���� (x−2, x+2, x)��������� (x−2, x+3, x−1)�

�� � �����

(2(x − 2), (x + 3) − (x − 2), x − 1) = (2x − 4, 5, x− 1).

������������ 5 �� �

�� 3 ��

��	��

P

B

A

������=���

|PA − PB|;

���
���

AB.
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L��� PAB ������(��

|PA − PB| < AB,

4������=�� < ���
��� �

�� 4 ��

�(��/��@�����

(1) ��)�����������������������


����4��)��������1����������

@������?���������M������)�

���	��"���'�����@�������M

�&��AǱ����)���0����1��P��!�

/�������)���0���1���
/����1

���

(2) ��)�������P����)�������)���

0���1���/����1������/�@
�$�

���!�0���������P����)���

(3) 
	���(�2:�
1�����B���

�C1(`�����A�1�����

��)������������0�����������1


4��)��/���1���
0���1�������

�������0�@���P��!�/������)�

������1��������)�����P����)�

������)������������)���@���	�

��)����0�@���P��!�/������)�

�/���1���0�$��1�1�1@���AǱ�2�

+�����)��A�����P����)��4��

�5	
�����������Ǳ���� �

�� 5 ��

115



� 12345678��������������#	��	��

/	

2 3

1 8
� 2 3

����	��0	���#	$��.4� �� 2, 3�5, 6�

4, 7 � 1, 8������ 2, 3 ��4��>����	� 5, 6 ��

��� 4, 7 �������J	 4, 5 �4H�!�M��J

	 1, 2 �4H�� 3 ��64(��

�� 6 ��

�!����!=��� −1�!����!=��� +1��

���/�A�!�!��������� −1����

(−1)5 = −1��	��������!=�!�%��	���

�����
�
�K	������%��	����	

����A�!��8��e�� −1�����������

�
�������� +1�� �

�� 7 ��

��	���� A �	
� 	*�0�@��
���,�

B ��
1*�0�@��2"#����n�4���*�0

�@�Ǳ��� A, B ��������/����� ��*

�0����#�������������<�������

�����"�����IA�,�4IA�)$���4IA

��KA��2����4IA��KA��&�]�����

��
IA��KA�����
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A B

�

�� 8 ��

L��� O ∗ O = O ∗ A = O ∗ B = O ∗ AB = +1�O �����

�2"1����
2"1������1� AB ���
 AB

������ +1�������� +1����1�����B

��1�
 (1)(2)(4)���

/� A �����1� AB ����' AB �������

1� A ����
 (3) ���L���(5) ��

�����

�$�X����


��� (1)(2)(4)(5)� �

�� 9 ��

	O�!������

1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14

�� 9����������
 14�������������

������
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� = 1, �= 10, = 60.

�
��������	��	����/��/��������

	#�������0�9�����Ǳ������

73 × 217 = 217 + 1736 + 13888 = 15841.

73

36

18

9

4

2

1 13888

6944

3472

1736

868

434

217

15841

��%�+�����	�"��.=�
���������

2 
)�
�

�� 10 ��

����;���#����, 2, 5 � 7 
��� �

�� 11 ��

 ����

1×0+2×0+3×�+4×6+5×2+6×0+7×1+8×1+9×2 = 75+3×�
� 11 ����4 11|(75 + 3 ×�)���E��� � = 8� �
��������	�
��� ��� 8, 7, 6, 5, 4, 3, 2, 1���

� 11 ����

�� 12 ��

�����������	�+���� n �4���� n �

�.�VW,(��.��� 18���.�������.
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�~���� 3 ���0%��� 6 ���
	�\#	��

��� 18 ��.�(&�

C��"&&4���\#�(���/�
	��#	�

��$�����Æ+$���)($.�

/�
�� 12.5 ���:�<O�
� 25× 35 = 875 ���

:���.�$.�

12.5

875
=

1

70
,

��
�<O� 70 ��.�(&� �

�� 13 ��

��)� abc %�� 100a + 10b + c���

19|abc ⇔ 19|(5a + 10b + c) + 95a

⇔ 19|(5a + 10b + c)

⇔ 19|2(5a + 10b + c)

⇔ 19|(10a + 20b + 2c)

⇔ 19|(10a + b + 2c).

�
���	����abc�.� 19����A�3� 10a+b+2c

�.� 19 ���4�� �

�� 14 ��

� �4�7 ��2���Æ����(=

1000�+ 10� + 407.

/� 1000�� 37���� 1��� 1000��� 37�������
37����	�� 407�� 37���� 0��� 1000�+10�+407

�� 37���� 10�+��� 37����	�4 37|(10�+�)�

��

10� +� = 37 � 74.
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/� � $�� � (��� � = 7,� = 4�
/�X��

4477

37
= 121

3� �

�� 15 ��

;�

a = bq + r ⇒ (a, b) = (b, r)

���2"���)Æ�����(,/��� (a, b)���

��������� 0
���� (2)�;�����5��

��)� (a, b)������ 0����
*� a+b−(a, b)

���� �

�� 16 ��

(1) L�������)($� τ = 1+
√

5
2 ≈ 1.618�

(2) ���� x ,�
���������L)($��

x + 173

x + 105
= 1.618 ⇒ 0.618x = 173 − 105 × 1.618.

�� x ≈ 5.03����� 5 ,�������

�

�� 17 ��

(1) ������/�B��?�� (0, 0)�0�B��?��

(7, 0)�����I��?���� (2.5, 4)� (5.5, 2)��+�

��I�?�� (5.5, 8)�
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����

(0, 0)

(2.5, 4)

(5.5, 2)

(5.5, 8)

;�?��
�����,(��-���/���√
(5.5 − 2.5)2 + (8 − 4)2 = 5
!)��

(2) �	�;��+���P+���+����<�3%���

	��
Ǳ������6/����

(0, 0)

(2.5, 4)

(5.5, 2)

(5.5,−2)(−5.5,−2)

������/�B��?�� (0, 0)�0�B��?��

(7, 0)�����I��?���� (2.5, 4) � (5.5, 2)��+

���I�?�� (−5.5,−2)�;�?��
�����,

(��-���/���√
(−5.5− 2.5)2 + (−2 − 4)2 = 10
!)��
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�

�� 18 ��

�
�����H��H���� 1, w1, w2 ������

1 w1 w2

������H�����������

w2 · w2 · w2 · 1 · w · w · 1 · w2 · w2 · 1 = w12 = 1.

�)�����H�������� w�'�Ǳ������ 1�

/���-��H����� w�4C-�����H��


�������H�������� w2�4C-�����H

����*�����H�������� w3 = 1����Ǳ

5�L��H���&&'-������Ǳ5��$	��

�;�*�
*�;���#�A�)Æ��92�����

*����� �

�� 19 ��

	���&�����*�('��!f�w60������

��� a� b
a, b > 0�� +���H�����&�����

�� a, b����40�������� a+b�/�������

� a+(a+b) = 2a+b�/�������� a+(2a+b) = 3a+b�

a

2a + b
a + b

b
3a + b
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/�*�('����/=����0=���4

(3a + b) + (2a + b) = b + (a + b) ⇒ a = 0,

�:�	�������;�����������
)$��

*	��('�� �

�� 20 ��

(1) ��(5���������

1, 9, 17, · · · .

��
������	�����(5��	#����(

5����(Ǳ 8 �����(5������,� 1�,%

8 ��%���	����(5���� n ���

1 + 8(n − 1) = 8n − 7.

(2) ;���� 8n − 7 ≤ 999 � n ≤ 1256
8�/�(5�� 125 �

����� 8 · 125 − 7 = 993��� 999 ������

��������	����478�����4n + 2� �

�� 21 ��

(1) /� b1 = 3����#4����KA����#� 3 �&

KA������ 〈bn〉 �,� b1 = 3�,$ 3 ��$���

4���

bn = 3 · 3n−1 = 3n.

(2) ���� 2 	��� 1 	�. 3 ����
��� 3 	��

� 2 	�. 32 ����
������� wn ������

�����

wn = 1 + 31 + 32 + · · · + 3n−1 =
1 − 3n

1 − 3
=

3n − 1

2
.
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��������	

(1)

an = 4an−1.

(2)

an = 3 · 4n−1.

(3)

bn =
4

3
bn−1.

(4)

bn = b1 ·
(

4

3

)n−1

= 3

(
4

3

)n−1

.

�

�� 22 ��

(1) �	������

P1 = P2 = P3 = · · · .

(2) �	������

P1 = P3 = P5 = · · · , P2 = P4 = P6 = · · ·
�	����
1 P2C = 2�

�
��������	

(1) � P1C = a+b−c
2 ���$� P1 = P2 ������� P1C �=

a+b−c
2 ��(��$�

P1 = P3 = P5 = · · · , P2 = P4 = P6 = · · ·
�	����
1 P1C + P2C = a + b − c�
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(2) �.�������������	
�(��$�0�

���	
���.������������$	.��@

�R�>���

�� 23 ��

/� a1 = k �/���� a2 = 3k + 1 �(���������

a3 =
3k + 1

2
.

� a3 = 3k+1
2 �/��

a4 = 3 · 3k + 1

2
+ 1 =

9k + 5

2
= 169 ⇒ a1 = k = 37.

� a3 = 3k+1
2 �(��

a4 =
3k+1

2

2
= 169 ⇒ k = 225.

���a1 = 37 � 225� �

�� 24 ��

/��%��� 1
21���

2

21
=

1

a
+

1

b
⇒ 2ab − 21a − 21b = 0

⇒ a(2b − 21) − 21b = 0

⇒ a(2b − 21) − 21

2
(2b − 21) =

441

2

⇒
(

a − 21

2

)
(2b − 21) =

441

2

⇒ (2a − 21)(2b− 21) = 32 · 72.

L��/�����

2a − 21 1 3 7 9

2b − 21 441 147 63 49
⇒ a 11 12 14 15

b 231 84 42 35
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���� (a, b) �.%�

(a, b) = (11, 231), (12, 84), (14, 42), (15, 35).

�

�� 25 ��

(1) �������	�	��'���
��

ld,


��/7����&����/����/7����

πd2.


���-������
��

ld + πd2 = (l + πd)d.

(2) ���-�o.���'���
��

ld.

/�.���M��� 360◦���.�/7����	��
��/��4/7����

πd2.


o.��������
��

ld + πd2 = (l + πd)d.

(3) ���-�o n ���'���
��

ld.


� n �/7���������������/��


/7����

πd2.
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/��o n ��������
��

ld + πd2 = (l + πd)d.

�5	n �/7�������������/�����4

����

/�o n ���M��� (n− 2)× 180◦��� n �/7��

��/D���

n · 2 × 180◦ − (n − 2) × 180◦ − 2 · n · 180◦

2
= 360◦,

4o n ��� n �/7����	����/��
/7�

���

πd2.

(4) � (3)����A�������� l �o n ��4��"�

��
���

ld + πd2 = (l + πd)d.

/�
�,(� n
����� n&C�(��o n��4

���$�D� l �/�4$�
���
��� (l +πd)d�

/���Ǳ/�4����
��� (l + πd)d������

fD� l �/�4$�>/� r�L 2πr = l �� r = l
2π
�/

�4$���
��

π(r + d)2 − πr2 = 2πrd + πd2 = ld + πd2 = (l + πd)d.

�

�� 26 ��

f an ��^=� n ��ǱhV�� �����/
'(�

an =
3

2
an−1 + 1, n ≥ 2.

���/
'(%��

(an + 2) =
3

2
(an−1 + 2) , n ≥ 2
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��(�/���� 〈an + 2〉 �,� a1 + 2 = 14 + 2 = 16�,$
3
2 ��$����� n � an + 2 �

an + 2 = 16 ·
(

3

2

)n−1

⇒ an = 16 ·
(

3

2

)n−1

− 2.

(1) ���Ǳ

a5 = 16 ·
(

3

2

)5−1

− 2 = 79

V�

(2) � n ���^=Ǳh

16 ·
(

3

2

)n−1

− 2

V�

�

�� 27 ��

�����
��

1, 3, 5, · · · , 2n − 1.

/������
�"��
���t)��"��
���

2n − 2 �� 2n 
�����

1 + 3 + 5 + · · · + (2n − 1) = n2.

��

n2 = (2n − 2) + 323 � n2 = 2n + 323,

4

n2 − 2n + 321 = 0 � n2 − 2n − 323 = 0.

�������("�#����
�����(�����

(n − 19)(n + 17) = 0�4 n = 19�


t)��"��
���`� 2n = 38 
� �
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�� 28 ��

(1) � 2n + 1 ��������3�� ��

2, 4, 6, · · · , 2n

6 n ��
9������

(2n + 1) − n = n + 1

��4�%����� 2n + 1 � F2n+1 ���

(2) %����������

30, 8, 31, 16, 32, 1.

�

�� 29 ��

(1) ������

x2 = f(x1) = f(1)

=
5

3
(1)3 − 15

2
(1)2 +

47

6
(1) + 1

= 3

x3 = f(x2) = f(3)

=
5

3
(3)3 − 15

2
(3)2 +

47

6
(3) + 1

= 2.

(2) ��� x4, x5��

x4 = f(x3) = f(2)

=
5

3
(2)3 − 15

2
(2)2 +

47

6
(2) + 1

= 0

x5 = f(x4) = f(0)

= 1.
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� x1 = 1, x2 = 3, x3 = 2, x4 = 0, x5 = 1 6 x6 = f(x5) = f(1) =

x2 = 3 ��+4�� 〈xn〉 ��.��4��D����
�

�� 30 ��

/�

n4 + 2n3 + 3n2 + 2n + 1 =
(
n4 + 2n3 + n2)+ 2

(
n2 + n

)
+ 1

=
(
n2 + n

)2
+ 2

(
n2 + n

)
+ 1

=
(
n2 + n + 1

)2
�

n4 + 2n3 + 3n2 + 2n + 1 =
(
n4 + 2n2 + 1

)
+ 2n

(
n2 + 1

)
+ n2

=
(
n2 + 1

)2
+ 2n

(
n2 + 1

)
+ n2

=
(
n2 + n + 1

)2
,

��√
1 +

1

n2 +
1

(n + 1)2 =
n2 + n + 1

n(n + 1)
= 1 +

1

n(n + 1)
= 1 +

1

n
− 1

n + 1
.

/������

99 +

(
1

1
− 1

2

)
+

(
1

2
− 1

3

)
+

(
1

3
− 1

4

)
+ · · · +

(
1

99
− 1

100

)
,

Ǳ�����

99
99

100
.

�

�� 31 ��
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	���5�+��'� �(� f(x)6������ a+�!

�<����4��(��� L��������⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

f(7) = 77

f(L) = 85

f(a) = 0

7 < L < a

⇒

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

(a − 7) | −77(= 0 − 77)

(L − 7) | 8(= 85 − 77)

(a − L) | −85(= 0 − 85)

7 < L < a

⇒

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

a = 8, 14, 18, 84

L = 8, 9, 11, 15

(a − L) | 85

7 < L < a

⇒
{

a = 14,

L = 9.

/�����5����� 14+���!	��B3� 350���

�� 32 ��

��f���0���?�� (x, y)������/���?��

� (y, x)��
��� (x, y), (y, x) ��>"����� x, y ��

 �(��% {
y = 7

2x(1 − x);

x = 7
2y(1 − y).

��(�'��

(x − y) =
7

2

(
y − y2 − x + x2) =

7

2
(x − y)(x + y − 1) ⇒ x + y =

9

7
.

� x + y = 9
7 4� y = 7

2x(1 − x)��

49x2 − 63x + 18 = 0 ⇒ (7x − 3)(7x− 6) = 0.

�� x = 3
7 �

6
7�
>"��&��?��(

6

7
,
3

7

)
�

(
3

7
,
6

7

)
.
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�

�� 33 ��

;� �(�%(����� �(�������

f(x) = x4 − 4x3 + 2x2 + 4x + 4.

�
������%���	�����

x4 − 5x2 + 5.

�� 34 ��

� f(x) = x3 − 3cx + c3�� x = −3,−c, c, 3 ��4������

f(−3) = (−3)3 − 3c(−3) + c3 = c3 + 9c − 27 < 23 + 9 · 2 − 27 < 0;

f(−c) = (−c)3 − 3c(−c) + c3 = 3c2 > 0;

f(c) = c3 − 3c2 + c3 = c2(2c − 3) < 0;

f(3) = 33 − 3c · 3 + c3 = c3 − 9c + 27 > 27 − 9c = 9(3 − c) > 0.

L �(�8������ f(x) = 0 � −3,−c ���−c, c ��

6 c, 3 ���������
������� �

�� 35 ��

���� a − d, a, a + d(d ≥ 0)�;���'��
'��

(a − d) + a + (a + d) = 24 ⇒ a = 8.

����'��
'��

(8 − d)(8 + d) + 8(8 − d) + 8(8 + d) = 183 ⇒ d = 3.


�����(����

5, 8, 11.

�

132



�� 36 ��

f w = −1+
√

3i
2 �	� w ��

w3 = 1, w2 + w + 1 = 0.

�

f(x) = (1 + x + x2)n = a0 + a1x + a2x
2 + · · · + a2nx

2n

� x ��4 1, w 6 w2��

3n = a0 + a1 + a2 + a3 + a4 + a5 · · · + a2n (1)

0 = a0 + a1w + a2w
2 + a3 + a4w + a5w

2 + · · · + a2nw
2n (2)

0 = a0 + a1w
2 + a2w + a3 + a4w

2 + a5w + · · · + a2nw
n (3)

L (1) + (2) + (3) �

3n = 3(a0 + a3 + a6 + · · · ) ⇒ a0 + a3 + a6 + · · · = 3n−1.

�L (1) + (2)w2 + (3)w �

3n = 3(a1 + a4 + a7 + · · · ) ⇒ a1 + a4 + a7 + · · · = 3n−1.

�L (1) + (2)w + (3)w2 �

3n = 3(a2 + a5 + a8 + · · · ) ⇒ a2 + a5 + a8 + · · · = 3n−1.

�

�� 37 ��

(1) �������]�����������	

S =
3
√

2 · 13500000 =
3
√

27000000 = 300

)]����

(2) /�����������C-�	���-�����>�

���������]���������]����� S

��

S ≥ 3
√

2 · 11500000 =
3
√

23500000 = 10
3
√

23.5 ≈ 286.
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 �����]����������]������-��

=8-�

�

�� 38 ��

(1) ���� 1.0 �����*� 25%����4��� P (x)�

�

25% = P (1.0) =
31−a

1 + 31−a
⇒ 32−a = 1 ⇒ a = 2.

(2) L (1) ��

P (x) =
3x−2

1 + 3x−2 .

�� 3.0 ������*�

P (3.0) =
33−2

1 + 33−2 = 75


�� 4.0 ������*�

P (4.0) =
34−2

1 + 34−2 = 90

(3) 4���

P (x) + P (4 − x) =
3x−2

1 + 3x−2 +
3(4−x)−2

1 + 3(4−x)−2

=
3x−2

1 + 3x−2 +
32−x

1 + 32−x

=
3x−2

1 + 3x−2 +
1

32−x

1 + 1
32−x

=
3x−2

1 + 3x−2 +
1

1 + 3x−2

= 1.

(= P (x) + P (4 − x) = 1 4���� x ��� 4 − x ���

*���& 100%�.���� 1 ���*� 25% ����

134



�� 3 = 4 − 1 ���*� 75%��� 4 ���*� 90% �

����� 0 = 4− 4 ���*� 10%�P�� S �@���

"����� (x, P (x))�� (4− x, P (4− x))����?��

(2, 0.5)��

�

�� 39 ��

�}NF�	����� n�	���

n = 13
√

13 ©©©©©©©©©.

��

13 × 109 ≤ n13 < 14 × 109.

&��!;� log 13 ≈ 1.1139, log14 = log 2 + log 7 ≈ 0.3010 +

0.8451 ≈ 1.1461��

1.1139 + 9 ≤ 13 logn < 1.1461 + 9.

���

0.778 ≤ log n < 0.781.

/�

log 5 = log 10 − log 2 ≈ 1 − 0.3010 ≈ 0.6990

log 6 = log 2 + log 3 ≈ 0.3010 + 0.4771 ≈ 0.7781

log 7 ≈ 0.8451,

�� n = 6� �

�� 40 ��

/� 230402457 − 1 � 230402457 $�% 1���D� 230402457 �(&

����;� log10 2 ≈ 0.3010 �

log10 230402457 = 30402457 log10 2 ≈ 9151139.56.
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8#���230402457 − 1 �($ 915 �)�����"��	

1000 �)���/��������3�&(�

��;�������� log10 2 ≈ 0.30102999566�����

������ 230402457 − 1 ��� 9152052 )�5���� �

�� 41 ��

�%�?���� x ;�H��88E���H�� y ;�H�

�C(�	���H����
	��)���L�C(�	�

���3(�����Ǳ/ 50���)������3(���

�FV 40◦��L�88�!<�&����Ǳ0 120���HE

����<�&���CV 30◦���	���

�

�

������

�������

����

50◦

40◦
30◦

��8���3(����;
<�&��V��

30◦ + 50◦ = 80◦.

�

�� 42 ��

(1) ���M���������(������M�����

�������!)�
��/�� I �M������

I × 1 = 1 ��!)�
��

(2) ������'��>����������A��>���

�M����>�@���������>��!)�
��

/�� S − 3 ����'��>������� (S − 3)× 1
2 =

S
2 − 3

2 ��!)�
��
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(3) ��>���������������M�KA��
�

����������		���&����
���>��

����
��>��!)�
��4� 1
2 ��!)�
��

,�������
�,(�

I +
S

2
− 3

2
+

1

2
=

S

2
+ I − 1.

�
�5	�� ������
.��������n ��
�

�>���=������
��
�,(��

S

2
+ I − 1,

4?N
�,(� n ��
�

�� 43 ��

�
��	���

A

B C

P

Q

R

S

(1)

SC = 2BC = 2a;

AC = b;

AR = CR − AC = SC cos C − b = 2a cosC − b;

AQ = AB + BQ = c + a = a + c;

AP = BP − BA = a − c.
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(2) ��/�M'���� AR · AC = AP · AQ�4� (1) ���

�

(2a cos C − b) · b = (a − c) · (a + c),

������

c2 = a2 + b2 − 2ab cos C.

������	�	�������/�@'��������

���3�� �

�� 44 ��

(1) ���� ABC ��;��H��

cos θ =
BC

2
+ AC

2 − AB
2

2 · BC · AC
,

�

cos θ =
152 + 82 − 172

2 · 15 · 8 = 0.


 θ = 90◦�

(2) �@������ θ = 60◦ ��;��H��

AB
2

= AC
2
+ BC

2 − 2AC · BC cos θ,

�

AB
2

= 82 + 152 − 2 · 8 · 15 · 1

2
= 169.


 AB =
√

169 = 13�

�

�� 45 ��

(1) /� s = 9+(x+7)+(x+14)
2 = x + 15���L��,(����


�

36 =
√

(x+15)((x+15)−9)((x+15)− (x+7))((x+15)− (x+14)).
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������

362 = 8(x + 15)(x + 6) ⇒ x2 + 21x − 72 = 0.

�� x = 3 � −24
����/� x = 3�

(2) L (1) ����������� 9, 10, 17�f�� 9 � 10 �

��V�� θ�;�
�,(

1

2
9 · 10 sin θ = 36 ⇒ sin θ =

4

5
.

;��H����

17

sin θ
= 2R ⇒ 2R =

17
4
5

=
85

4
.


����@�/>/� 85
4�

�

�� 46 ��

��	���f������ x����/D���� θ6 π−θ�

25

39

52

60

x

θ

π−θ
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(1) ��Æ��������;��H����

x2 = 522 + 602 − 2 · 52 · 60 cos θ = 6304 − 6240 cos θ;

x2 = 252 + 392 − 2 · 25 · 39 cos(π − θ) = 2146 + 1950 cosθ.

Ǳ# x��� cos θ = 33
65��4�(=�� x = 56�;��	

����������� 65�

(2) /� cos θ = 33
65��� sin θ = 56

65��� sin(π − θ) = 56
65�
/

M�.���
��

1

2
· 52 · 60 sin θ +

1

2
· 39 · 25 sin(π − θ) = 1764.

�� 47 ��

(1) ��%�������������

tan
π

n
=

Tn

2

1
⇒ Tn = 2 tan

π

n
= 2

sin π
n

cos π
n

�

sin
π

n
=

Sn

2

1
⇒ Sn = 2 sin

π

n
.

(2) L Sn = 2 sin π
n
�

2 −
√

4 − S2
n = 2 −

√
4 − 4 sin2 π

n

= 2 − 2 cos
π

n

= 2(1 − cos
π

n
)

= 4 sin2 π

2n

>�,(�

= S2
2n.

(3) L Sn = 2 sin π
n
6 Tn = 2 tan π

n
�

(4 − S2
n)(4 + T 2

n) = 16
(
1 − sin2 π

n

)(
1 + tan2 π

n

)
= 16 cos2

π

n

(
1 +

sin2 π
n

cos2 π
n

)
= 16.
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(4) ;� (1) �

SnTn

Sn + Tn
=

4
sin2 π

n

cos π
n

2 sin π
n

+ 2
sin π

n

cos π
n

=
2 sin π

n

1 + cos π
n

=
2 · 2 sin π

2n
cos π

2n

2 cos2 π
2n

= 2
sin π

2n

cos π
2n

= T2n.

(5) ;� (1) �

T2nSn = 2
sin π

2n

cos π
2n

· 2 sin
π

n

= 2
sin π

2n

cos π
2n

· 4 sin
π

2n
cos

π

2n

= 8 sin2 π

2n
= 2S2

2n.

�

�� 48 ��

�
�	����
'�

A B

D C

E

F

α

β

1

α

90◦−α

α − β
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��	����%�������������

sin(α − β) = BE

= BC − EC

= AD − EC

= cosβ sinα − sinβ cos α

= sinα cos β − sinβ cos α,

��

cos(α − β) = AB

= DF + FC

= cos β cos α + sin β sinα

= cos α cosβ + sin α sin β.

��	������������	�	�������-��

����(� �

�� 49 ��

/�	)��������0

�Y(�^�� 180◦ − (α +

60◦) = 120◦ − α�/��(�
����0	���

�/��Y(�����!7

Y(������Y(���

�
120◦−αα

10 sinα + 10 sin(120◦ − α)

= 10 (sin α + sin(120◦ − α))

= 10 · 2 sin
α + (120◦ − α)

2
cos

α − (120◦ − α)

2
= 10 · 2 sin 60◦ cos(60◦ − α)

= 10 · 2 ·
√

3

2
cos(60◦ − α)

= 10
√

3 cos(α − 60◦).
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�

�� 50 ��

��	����������� 1
sin 50◦ = 1

cos 40◦��������
1

sin 10◦ = 1
cos 80◦��������

1
sin 70◦ = 1

cos 20◦�

10◦ 50◦

40◦
70◦

��
� 1 �

 ���3��

1

cos 40◦
+

1

cos 80◦
− 1

cos 20◦
,

���

cos 20◦ cos 80◦ + cos 20◦ cos 40◦ − cos 40◦ cos 80◦

cos 20◦ cos 40◦ cos 80◦
.

;�
����	� cos 20◦ cos 40◦ cos 80◦ = 1
8��

4(2 cos 20◦ cos 80◦ + 2 cos 20◦ cos 40◦ − 2 cos 40◦ cos 80◦)

= 4(cos 100◦ + cos 60◦ + cos 60◦ + cos 20◦ − cos 120◦ − cos 40◦)

= 4

(
3

2
+ cos 100◦ + cos 20◦ − cos 40◦

)

= 4

(
3

2
+ 2 cos 60◦ cos 40◦ − cos 40◦

)
= 6.


 ���3�� 6 V� �

�� 51 ��

f a1 = 2 cos 20◦ = α�;����,( cos 60◦ = cos 3 · 20◦ =

4 cos3 20◦ − 3 cos 20◦��
1

2
= 4

(α

2

)3
− 3

(α

2

)
,
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4

α3 = 3α + 1.

/� a1 = α1 an+1 = 2−a2
n (n ≥ 1)��� a2 = 2−a2

1 = 2−α2��

;� α3 = 3α+1�� a3 = 2−a2
2 = 2−(2 − α2

)2
= −α4 +4α2−2 =

−α(3α + 1) + 4α2 − 2 = α2 − α − 2��;� α3 = 3α + 1��

a4 = 2 − a2
3

= 2 − (α2 − α − 2
)2

= −α4 + 2α3 + 3α2 − 4α − 2

= −α(3α + 1) + 2(3α + 1) + 3α2 − 4α − 2

= α

= a1.


��� a1 = 2 cos 20◦ ��� 〈an〉� 3��4��4	�� 3�

��� �

�� 52 ��

;����((6�0����������	�� α, β � γ �

�Ǳ��� 3 + i, 6 + 2i � 7 + i ��0��4

3 + i =
√

10(cosα + i sin α)

6 + 2i = 2
√

10(cosβ + i sin β)

7 + i = 5
√

2(cos γ + i sin γ).

����������

(3 + i)(6 + 2i)(7 + i) = 100
√

2(cos(α + β + γ) + i sin(α + β + γ)).

�

(3 + i)(6 + 2i)(7 + i) = 50 + 50i = 100
√

2(cos 45◦ + i sin 45◦),


 α + β + γ = 45◦� �
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